ON STEADY

The Bright Side of Mathematics



Abstract Linear Algebra - Part 16

Orthogonal projection:

 $V \Vdash -vector space, inner product <.,.>,$ $U \subseteq Y k-dimensional subspace.$



$$X = \int_{\varepsilon}^{\varepsilon} \int_{u}^{u} f \nabla_{u} \nabla_{u}$$

Assume we have a basis
$$\mathcal{B} = (b_1, b_2, \dots, b_k)$$
 of \mathcal{U} .
 $\rho = \lambda_1 b_1 + \lambda_2 b_2 + \dots + \lambda_k b_k$ for some $\lambda_1, \dots, \lambda_k \in \mathbb{F}$



For each basis vector \mathbf{b}_{j} : $\langle \mathbf{b}_{j}, \mathbf{x} \rangle = \langle \mathbf{b}_{j}, \mathbf{p} \rangle + \langle \mathbf{b}_{j}, \mathbf{n} \rangle = 0$ = $\langle \mathbf{b}_{j}, \lambda_{i} \mathbf{b}_{i} + \lambda_{i} \mathbf{b}_{i} + \dots + \lambda_{k} \mathbf{b}_{k} \rangle$ = $\sum_{i=1}^{k} \lambda_{i} \langle \mathbf{b}_{j}, \mathbf{b}_{i} \rangle$

Let's rewrite these k linear equations:

$$\begin{cases} \langle k_{1}, k_{2} \rangle \langle k_{1}, k_{2} \rangle \cdots \langle k_{k}, k_{k} \rangle \\ \langle k_{1}, k_{2} \rangle \langle k_{1}, k_{2} \rangle \cdots \langle k_{k}, k_{k} \rangle \\ \vdots \\ \langle k_{k}, k_{k} \rangle \langle k_{k}, k_{k} \rangle \cdots \langle k_{k}, k_{k} \rangle \\ \Rightarrow solution gives us the orthogonal projection diverse a unique solution?
$$G(\mathcal{B}) \quad \text{invertible} \quad \Leftrightarrow \quad \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(G(\mathcal{B})) = \{0\} : \quad \text{choose} \quad \begin{pmatrix} \beta_{1} \\ \beta_{k} \end{pmatrix} \in \text{Ker}(G(\mathcal{B})) = \{0\}$$

$$\text{Let's prove } \text{Ker}(\mathcal{B}) = \{0\}$$

$$\text{Let's prove } \text{Ker}(\mathcal{B}) = \{0\}$$

$$\text{Let's prove } \text{Ker}(\mathcal{B}) = \{0\}$$

$$\text{Let's prove } \text{Let's prove } \text{Ker}(\mathcal{B}) = \{0\}$$

$$\text{Let's prove } \text{Let's p$$$$

